
Adjustment Table Type 1232 
(B488) 

 

This parts catalog includes MB No. 1 



 

 
 

 

  1.Adjustment Table (B488)......................................  2 

PARTS INDEX ..........................................................  5 

Adjustment Table Type 1232 (B488) 
 

PARTS CATALOG 
 

This catalog gives the numbers and names of parts on this machine. 

 

April ,6 ' 2005 



2 

 

1.Adjustment Table (B488) 

 



3 

 1 AH01 2032  Caster:392N 4 

  B408 1312  o/o MB1  

 2 B488 1211  Grounding Plate Bracket 1 

 3 B302 1163  Grounding Plate 1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 101 0802 5276  Tapping Screw - M3x6  

 102 0453 3006B Tapping Screw - M3x6  

 103 0450 3010B Tapping Screw - M3x10  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Description 
Q’ty Per 
Assembly 

Part No. 
Index 
No. 

Description 
Q’ty Per 
Assembly 

Part No. 
Index 
No. 

1.Adjustment Table (B488) 



 

 

 

Parts Index 



6 

B488 1211  Grounding Plate Bracket   3 -   2 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

B302 1163  Grounding Plate   3 -   3 

B408 1312  o/o MB1   3 -   1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Parts Index 

Description 
Page and 
Index No. 

Part No. Description 
Page and 
Index No. 

Part No. 



7 

AH01 2032  Caster:392N   3 -   1 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

0450 3010B Tapping Screw - M3x10   3 -103 

0453 3006B Tapping Screw - M3x6   3 -102 

0802 5276  Tapping Screw - M3x6   3 -101 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Description 
Page and 
Index No. 

Part No. Description 
Page and 
Index No. 

Part No. 


	1.Adjustment Table (B488) 
	Parts Index 

